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000000000000 2 — Monomial ideal, term order
O0: 0000000000000 00.00000. (stdmonomial 000. 000000

000 emacs OO0O. unixshel OOOOOOOO.
Maple.

maple
read ‘t.txt‘;

with(Groebner) ;

Basis is used in new versions.
:=gbasis([x"2,x"2*y,y"4,x*y], [x,y],tdeg);
:=[op(expand ((1+x+y)~3))];

TestOrder and grlex are used in new versions.
tdeg is graded lex order

sort(M, (a,b)->testorder(a,b,tdeg(x,y,2)));

H H =2 Q#H

Asir. (lexicographic order O 2)

fep asir
load("t.txt");

G=nd_gr([x"2,x"2*y,y"4,x*y], [x,y],0,0);
dp_ord(0);

F=(1+x+y) "3;

dp_ptod(F, [x,y1);

end$

/* $

[y~4,x"2,y*x]

*/

N J
CoCoa, Macaulay2, Singular 0 000 000000000.000000000000O0O0O0O0O0O0OO
gooooo.

4 M

cocoa
Source "t.txt"

M2
load "t.txt"

Singular
< "t.txt";

N /

Macaulay 2. (lexicographic order 0 Lex)

QQ[x,y,MonomialOrder=>GRevLex]
I = ideal(x"2,x"2%y,y 4,x*y)
gens gb I

(1+x+y) "3

Singular. (lexicographic order O 1p)

ring R=0, (x,y),dp;

ideal I=x"2,x72%y,y 4,x*y;
ideal J=std(I);

J;

(1+x+y) ~3;




